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6.5 {a} If Pratt = Poulles +

_ My Orgee _ (3-00%10°° kg)(1.50x10° mys)
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bullet’'s motion to be negative. Then, conservation of momentum gives

{mr'g&svrﬁt + mﬁ-ﬂu”hm) p '_"{mr#kvrﬁs “’""w"m)‘
or (3.1 kg) v,y +(5.0x10° kg)(-300 m/s)=0+0 and vy, =[085 ny/s |

e 730N Wi the same
) 'I'l'\emassofthemanplusnﬂelsm=9’30m{,52#?4.5kg, e use the

i 5.0x10° ke) =[2.0x107 m/s
approach as in (a), to find v=(——7—’z§€—— (300 l::lfS) i m/ l.

6.26  For each skater, the impulse-momentum theorem gives
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6.41 Choose the +x-axis to be eastward and the +y/-axis northward.

(a) First, we conserve momentum in the x direction to find
(185 kg)Vcos8=(90 kg)(5.0 m/s), or Vcos 9=[%’§) (5.0 mys)
Conservation of momentum in the ¥ direction gives

(185 kg) V'sin 6=(95 kg)(3.0 m/s), or vspea:(%)(a.o m/s)

Divide equation (2) by (1) to obtain me:%%, and §=[32°]

Then, either (1) or (2) gives V = 2.88 m/s, which rounds to V = [29 m/s ],
(b) KE,, =KE -KE,

=-;j[[9u kg)(5.0 mys)" +(95 kg)(3.0 mys)’ ~(185 kg)(2:88 ny’s)’ |

=|7.9%10 J | converted into internal energy




